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i) T F o EFEBR B R % = 1SRRI | 15~645% | 6552 E
4 # 36,452 | 102,434 | 51,562 | 50,872 | 14,695 | 76,934 | 10,805
# W — T H 658 | 1,812 876 936 225 1,370 217
L b = T H 480 1,499 754 745 249 1,110 140
# b = T H 402 1,046 522 524 116 790 140
% » & — T H 155 1,268 626 642 239 909 120
% » & - T H 690 2,065 1,033 1,082 300 1,578 187
% » ©» = T H 316 936 468 468 135 708 98
g » #®m WM T H 294 893 448 445 132 673 88
% » A B T H 536 1,474 121 153 187 1,142 145
# » & RN T H 2117 613 311 302 82 476 55
# » % £ T H 445 1,320 667 653 183 983 154
# » ©» N T B 44| 1,039 490 549 123 823 93
g » B A T H 446 1,319 692 627 138 1,014 167
Bogt » & — T H 211 596 322 274 79 466 51
" # » 5 Z T H 935 2,751 1,387 1,364 413 2,074 264
Ho# o, & = T H 617 1,929 952 977 313 1, 477 139
BMoe » & — T H 454 1,282 645 637 159 990 133
m8s sy 5 Z T H 244 653 342 311 89 490 4
Mg, & = T H 143 382 191 191 59 269 5
Mo#t » & ™ T H 105 1,224 633 591 199 949 76
& g A 1,102 2,767 1,336 1,431 458 1,963 346
B oE % 24 — T H 162 462 233 229 52 330 80
HoE ®% 24 - T H 321 178 397 381 83 550 145
wEH J =T H 440 1,260 642 618 182 959 119
BoE % 4 M T H 465 1,857 674 683 " 183 1,008 166
HoE % 4 A T H 353 970 503 467 114 745 111
Ho#E % 24 X T H 393 1,166 600 566 148 883 135
B o#E % 24 &£ T H 609 1, 646 825 821 238 1,198 210
[iZ} E g o) 1, 497 4,274 2,108 2,111 559 3, 314 401
5 A R 347 855 463 392 84 639 132
o R 620 1,875 941 934 293 1, 354 228
B ok R — T H 543 1,416 726 690 231 1,085 100
H o R Z T H 1,196 | 8,222| 1,635| 1,587 587 | 2,388 247
B o R = T H 652 1,887 949 938 217 1, 360 250
Bodr R ™ T H 428 1,255 641 614 153 978 124
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it ¢ R — T H 324 891 445 446 128 699 64
It & R Z T H 715 1, 966 963 1,003 311 1,538 117
It ¢ R = T H 350 946 516 430 111 768 67
) A 1,502 4, 467 2, 269 2,198 564 3,324 579
Mo &g — T H 602 1,914 94 940 316 1,469 129
B o E Z T H 534 1,629 817 812 2517 1,217 155
B o E = T H 545 1,592 803 789 221 1,230 135
M oW E M T H 769 2,160 1,078 1,082 326 1,580 254
M M B A T H 445 1,148 592 556 169 865 114
M W = X T H 238 730 356 374 116 543 1
vl = B 484 1,854 670 684 251 977 126
& — T H 254 674 336 338 T8 503 93
B R’ = T H 609 1, 642 814 828 229 1,210 203
T B — T H# 221 536 279 257 65 408 63
T ®m Z T H# 552 1,367 708 659 147 1,002 218
B w8 — T H 408 1,197 625 572 167 934 96
H owm &= — T H 297 924 450 474 173 670 81
B oW E = T H 565 1,752 863 889 261 1,312 179
B oW 8 ® T H 432 1,241 619 622 86 993 162
B oM E HE T H 692 1,964 967 | 997 223 1,472 269
B owm g KX T H 172 474 244 230 44 366 64
< % & i — T H 557 1,563 792 7M1 269 1,166 128
¢ W ¥ b Z T H 461 1,148 587 561 142 896 110
¢ ¥ ¥ b = T H 439 1,199 619 580 167 918 114
K w ¥ b ®m T H 450 1,020 525 495 131 761 128
<K %» ¥ b A T H 394 1, 140 573 567 250 846 44
R i ¥ H 29 80 45 35 6 67 7
G 57 802 2, 409 1,220 1,189 382 1,764 263
i e fidd 263 738 378 360 88 542 108
& @ M — T H 257 783 412 371 131 561 91
o E W Z T H 244 686 348 38| 15 538 73
WO @M O — T B | 469 1,249 617 632 175 974 100
ok E M= T H 404 1,188 584 604 160 930 98
£ 1% H 5] 224 622 311 311 81 474 67
87 FF R 231 677 367 310 6 536 65
E B AR — T H 415 | 1,137 562 575 262 131 144
¥k =T H 199 | 463 237 226 18 350 65
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EHAh R =TH 471 1,272 642 630 184 878 210
BB A R M™TH 492 1,186 619 567 142 881 163
BB AP R AT H 175 472 232 240 55 345 72
mE X I — T H - 503 1, 354 691 663 206 1,040 108
mE KX W Z T H 327 938 455 483 140 693 105
it w1l B 322 768 364 404 146 572 50
¥ W = T H 188 483 246 2317 68 351 64




